N = 0l & At & Ml A

A R =y
Bu: cRAaR
telr E2Y E (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Fal=n. 5,791,102 5,145,089 646,013
= 618,000
Al 693,190
- 4,479,912
EZ2AE 2 5,230,806 4,936,587 294,219
= 444,000
Al 461,750
- 4,325,056
T2y = 3,411,600 3,206, 100 205,500
- 444,000
Al 444,000
- 2,523,600
T2 ¥ St==AlE BHAY 2,523,600 2,506, 100 17,500
201 et 1,100 1,100 0
01 At 22l 1,100 1,100 0
O 1. get+=2d| 1,100
—HEHEESA 50,000 » 43 200
P ONE=DN 25,000 » 6& 150
—ES(EA)2E NH 50,000 = 153 750
401 Al HIZ 201 8] 2,522,500 2,505,000 17,500
01 A&l 2,520,000 2,500,000 20,000
O LEE 29 T2 U s4AE FYl
250,000 * 800m 200,000
O =93 g3 T2 % dt=Al&E FH
250,000 * 800m 200,000
O 20ls 28 &2 & ot=AlE EH|
250,000 * 800m 200,000
O gos 22 &2 & st=Ald Fb|
250,000 = 1,400m 350,000
O ets 22 &2 & st=Ald Fb|
250,000 * 800m 200,000
O ot=221 JIAH =& 200,000 = 1,500m" 300,000
O 2l &= A0HK 2= 100,000
— S22 2ASES 100,000
O EZANES 228 100,000
—S2ANMEE 2+ 80,000
— = FHIH 100,000 * 200K £~ 20,000
O at=22 C.C.T.V =AM 10,000 * 4,000m 40,000
O ot==AlE=2 RAE= 300,000
—ot=2t2 FHl 200,000 = 1,500m 300,000
O E2UHE RANE=S 100,000
— = FH 100,000
O JeX 2 AL 430,000
—EZ2=2F =374 2,000,000 = 200a 400,000
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EXN: A4
M. T2 A2
ool CRY aE (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
—C 22 232 22| 30,000
03 A2 HH]| 2,500 5,000 A 2,500
O 2UZ ZAEH SHEA, 2322 S 2,500
BHALG 22 &2 & - TR ZAHEZALY) 888,000 0 888,000
2 444,000
Al 444,000
401 AIEHIZL 20 Y| 888,000 0 888,000
= 444,000
Al 444,000
01 A& H| 888,000 0 888,000
O BHAG| el &2 & - LEZA 888,000
2 444,000
Al 444 000
T AIHE 22 38,488 98,488 A 60,000
SEHQ T AIHE 22| 38,488 28,488 10,000
201 LBt | 29,662 19,662 10,000
01 AP 22| H| 29,662 19,662 10,000
O 1. get4=24d| 29,662
— S AZEZIHE(CH) 22D 202
1,270,500 * 2IHAF = 23] 5,082
~2.ZRN BN L 2EETLLE
250,000 = 40Z X| 10,000
~ 485X £ A8 & +28
14,000 * 202 X| 280
—HAEH 28 FHEZeH 243
40,000 = 1408 = 504 2,800
— Z2A AHENH EEE E2H 23
100,000 = 504 500
—Z2A AHENH SEEE E2H %24
500,000 = 1CH 500
— SAAHE2Z EH EAL Y 2 500
A HE T SA 1,000 = 3000H 300
- EA2CHEE S FE 200
— =932 EXNOIEHE &2 HZ 10,000
-EXOIEHE S HI}
15,000 * 5008 7,500
-ZAOIEHE SEEE XUE
500,000 * 574 2,500
203 R F & 1,350 1,350 0
03 AIEH =X 2 F X H| 1,350 1,350 0
O DAL U L4, ABAD XX
1,500,000 » 0.9 1,350
305 HHAZ2S 7,476 7,476 0
01 A Z2S 7,476 7,476 0




2N A4

M T 2AA2E

S TAIAE 2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O Z0l1s 881-101H X2 X 2=2(H2Y) 3,045
O 2Y0I1S 880-3581 X LE(HES) 303
O «0I1sS 792-29¥1 X L= (LEHE) 2,733
O Zots 119128 X AdS(LE4) 1,395
C2XRFANE E JIdLH 2el 1,780,718 1,631,999 148,719
Al 17,750
- 1,762,968
28 2ets |X2el 1,657,997 1,421,143 236,854
201 et 596,949 598,540 21,591
01 AP 2teltl 11,498 11,771 A273
O 1. g8t+=2d| 9,956
—E2XFANE AEFH =8 9,956
-2 S 12,130 * 4008 4,852
- B2os 25,520 = 200 5,104
O 4. 1W=d| 450
— 28 E+& LISl 450
- 2RE(s8) 60,000 » 3H 180
2R=E(6=) 50,000 » 3¥ 150
ot 3t 40,000 » 3¥ 120
O 5. =4l 1,092
—E2XZAL o2t =Z T S
7,000 * 3Y = 14l x 5= 1,092
02 =224l 585,451 586, 769 AN 1,318
O1. 2323 % HA 585,451
—JI28 #JIe=s 390,187
JlEe3 6,920 * Skw » 203H * 12 84,286
AEBRS
94.5 = 0.26kw * 3,4115 * 10AI2t * 365 305,901
el
—HO0S FIIRD 4,400 * 3,4005 * 128 179,520
~Jt2S AAMO PH2Y ABR
6,000 * 20500 « 12& 14,760
—2¢s FI3M0 RHAZ2E MAE=
50,000 » 12& 600
—JI2s N0 dE3H AEZ
32,000 = 12& 384
206 M= Hl 157,447 155,652 1,795
01 =8l 157,447 155,652 1,795
O JIzs = MM 74,931
-8 22,000 * 3,411 * 30% 22,513
—&ZD 750,000 * 203%H * 20% 30,450
— ot DI 25,000 * 3,411 * 10% 8,528
— S™8I 30,000 * 3,411 = 3% 3,070




A R =y
Y T2 AL
Chel: S22 XHAE & J|ddy 2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-S| 102,000 * 3,411 * 2% 6,959
—2dE 50,000 * 3,4115 * 2% 3,411
O 2ots B XIM 76,500
— = 22,000 * 3,400 * 30% 22,440
— &2 52,000 * 3,400 * 20% 35,360
— oFE DI 25,000 * 3,400 * 10% 8,500
-3+ 60,000 * 3,400 * 5% 10,200
O 32xY8 E= XM 6,016
—AEEH 1,500,000 * 1004 = 20% 3,000
—dAZSSEX 150,000 » 100 * 5% 750
—sHEs 100,000 » 100& * 5% 500
— LED® & 200,000 » 883 * 1% 1,766
401 AIEHI L 20 903,601 666,951 236,650
01 Al 903,601 666,951 236,650
Oolg o ADIIRSESF =7
3,500,000 = 10 35,000
O ks )28 WA 3,500,000 = 20& 70,000
O ks d2 uH 550,000 = 60& 2+ 33,000
O 2os o4 900,000 * 255 =* 32l 67,500
O kLs 2ets WHl 750,000 * 60 45,000
O &2xY% 2AHE 4H HE= 28,271
—J=2S 3,500,000 = 3,4115 = 0.13% 15,521
—BoE 750,000 * 3,400 * 0.5% 12,750
O 2os B 76,330
— 8T wH ¢ 15,000 = 3,400S * 35% 17,850
— &80 WM =& 40,000 * 3,400 * 25% 34,000
—OotFI WA =2 30,000 x 3,400 * 16% 16,320
-7 UM =¥ 80,000 » 3,400 * 3% 8,160
O .= tidg wH 5,000,000 = 6% 30,000
O 2ets ZAIMA AIAE &X
250,000 * 2009H £ 50,000
O NHz2s AMAH ALY WA AL
2,000,000 = 20CH 40,000
O Zotelofl==22 dAE dJAe DHAY 20,000
—dAZSZE 5,000,000 = 4&H 20,000
O BdHE EXSA 1,100,000 » 355 38,500
O =g H2AFAAXTHAS2 54 7 2el 20,000
O ZotoliH2 FHIIZES WH AL (2X})
3,500,000 * 55& 192,500
O =W FAXHE X2 A(2X)
4,500,000 = 35& 157,500
2 S 5201 Jld&d 22 57,599 59,691 22,092
201 L2 | 57.599 59,691 £2,092




A A&
Bu: cRAaR
e T2 XYAIE L J|&EH 22 (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
02 3524l 57,599 59,691 N 2,092
O1. 2222 % HMA 17,919
-2 dIIe3 14,839
a2 6,776 = 15kw = 8CH * 12& 9,758
INE=3 A= 3,528 = 1bkw » 8CH  12& 5,081
-2 SHe3 22,000 = 8CH  12& 2,112
— 52D HIIEAN =2 121,000 = 8CH 968
O 3. A2 & HIKRXIHI 39,680
— 2D S22 29|
330,000 * 8L = 12& 31,680
—5&J| S X 22l 1,000,000 * 8CH 8,000
2oL HI A S22 (BEXAY) 27,750 29,144 N 1,394
Al 17,750
- 10,000
201 Bt A H| 27,050 29,144 N2,094
Al 17,050
- 10,000
02 332494l 27,050 29,144 N2,094
O 1. 2222 2 MA 9,809
— 20otol BT A MRS 9,523
223 6,105 = 60kw * 128 4,396
Al 4,396
AERS
89 » 36kw * 4Al2F » 30 x 128 4,614
Al 4,614
AERS
89 * 2kw * 24Al2F *» 30 x 4 513
Al 513
—ZoiGts BOE 2523 286
Nee3 1,320 * 122 6
Al 16
AERS 1,500 » 15m = 12& 270
Al 270
O 3. A& & HISXIH| 17,241
— 20otol BT A S22l 17,241
Al 7,241
- 10,000
405 Ko SHI 700 0 700
Al 700
01 JHAE =2 Z 5 S H 700 0 700
O dgy ¢ 700,000 = 1CH 700
Al 700
T A2 D& EH 2 23,097 113,097 A 90,000
201 Bt A | 2,290 2,290 0




A AL
An: cALBE
Chel: S22 XHAE & J|ddy 2el (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 At 22l 2,290 2,290 0
O 1. geragH| 2,290
—HIIMH oHEBR HLLR
190,810 * 128 2,290
206 M= Hl 5,807 5,807 0
01 MHZ 4l 5,807 5,807 0
O &EM& MII&dl XYl 5,807
—dASSEX 50,000 = 764S * 10% 3,820
— &I S 20,000 » 7645 * 3% 459
— LEDH® = 200,000 » 764 * 1% 1,528
401 Al HI L 2 T 15,000 105,000 £90,000
01 A& HI 15,000 101,000 A 86,000
O TAHd2 dII&H |X2el
50,000 * 300H £ 15,000
20l DOtot! 20 =X 2l 13,103 6,752 6,351
201 L2l 13,103 6,752 6,351
02 3323l 13,103 6,752 6,351
O1. 2323 % WA 8,103
-2+ dJIes=s 1,176
E2ea 6,776 » 10kw * 128 814
MNERS 116 * 12kw * 13AI2F * 20 362
-zl =3 2,590
2R 2,420 » 12& 30
MNERS 1,600 » 80m * 203 2,560
-2l S 28,050 = 128 337
— 20 Fa2894 160,000 * 253 4,000
O 3. A& ZHIsXHl 5,000
— gD, MY S B 5,000
L2ESELYNELEH SN2 1,172 2,172 A 1,000
201 LBt | 1,172 2,172 A1,000
01 AL 22l H| 1,172 1,172 0
O 1. g8t=+=2H| 1,172
— &I EH] ot AR IHE =2
97,650 = 12& 1,172
HAotE A Fdl 348,000 0 348,000
= 174,000
Al 174,000
ilel Sy 348,000 0 348,000
= 174,000
Al 174,000
HEQIAMZ 2 DEZALE X X (Zeredia== 348,000 0 348,000
I HELLEHZAY)




EXN: A4
M ClorE R FY|
EHel: HAOLAH| (2 &HH)
. _ = o
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
= 174,000
Al 174,000
401 AlEHIZL £ 0HY| 348,000 0 348,000
2 174,000
Al 174,000
01 Al&H| 348,000 0 348,000
O Zotelol==2& HIEQI M2AY 348,000
= 174,000
Al 174,000
HESAAH (HE W) 212,296 208,502 3,794
Al 57,440
5 154,856
2| (HA D) 122,388 118,594 3,794
Al 57,440
- 64,948
HA2AH| (AL D) 122,388 118,594 3,794
Al 57,440
- 64,948
101 2124 H] 122,388 118,594 3,794
Al 57,440
- 64,948
03 I HLs22 NHE 122,388 118,594 3,794
O Zotol BT A o2 122,388
- J=2a2 2,116,420 = 2% * 128 » 1.06 53,842
Al 25,604
- 28,238
— 894 4,320
NESLES (R 40,000 * 2% = 128 960
Al 440
- 520
NELL(BELIE)
20,000 » 1€ * 12& 240
Al 120
- 120
EZ2FE 30,000 » 2 * 128 720
Al 360
- 360
- ErYRag 30,000 * 2 * 12 720
Al 360
- 360
S AAXMASS 70,000 * 2 « 12& 1,680
Al 840
- 840
— &= 27,361
SIS 1,173,210 * 29 x 43 * 1.06 9,949
Al 4,449
- 5,500




2N
X ZH -
L= B

el

ro o2 ry
Y 0X W
Ho MO &

02 02

(O]
—~

5 - 4
BB - Sl (31) - NRAY - BES Ol &+ o4 e
29 1,173,210 * 29 * 23| » 1.06 4,975
Al 2,025
- 2,950
b= = e

1,173,210 = 298 « 53] = 1.06 12,437
Al 5,937
- 6,500
— == M| 10,262
ZFAHZ A 130,000 » 2% * 12& 3,120
Al 1,560
- 1,560
- HE S0 1,407,850 » 2% * 23] 5,632
Al 2,632
T 3,000
A3 754,620 » 2H 1,510
Al 710
- 800
— 44| 100,000 » 2% * 12&8 2,400
Al 1,200
- 1,200
— QI = AtHl 50,000 » 2% * 12& 1,200
Al 600
- 600
—=U2fRE 21,803

guaesy
17,248 * 1.5 » 24A12+ = 2% » 12& 14,903
Al 6,903
- 8,000
AXRSsII==E 137,991 » 2% » 25 6,900
Al 3,100
- 3,800
— et St X3 = 300,000 = 2H 600
Al 300
- 300
— o=l 300,000 * 2 600
Al 300
T 300
|22 (A4 D) 89,908
Jl2dy (A &) 89,908
201 LBr2d| 16,588
01 AL 2l 16,568
O 1. gBt=2H| 8,524
—2EA2ZIE2+2H| 2,000
SNEEEE 324
Zox 15,000 * 15 * 128 180
INE=DN 12,000 » 152 * 128 144
— SALE Xl (A4) 20,000 = 702fA 1,400
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SN HED
SH &

X{ XH -
S =

5 - 4
BB - Sl (31) - NRAY - BES Ol &+ o4 e
— SAMI EYH 100,000 = 1CH * 43 400
—ZEH A23 250,000 = 40H * 43| 4,000
—SAESEI EYH 200,000 » 1CH * 23] 400
O 5. =&l 8,064
— A4 Y S
7,000 = 24H » 441 x 12 8,064
202 04l 69,120 69,120
01 = LH YI 69,120 69,120
O 2 =20l
20,000 = 24 * 122 = 12& 69,120
203 YR =&t 4,200 4,200
04 SNSYAREAY| 4,200 4,200
O A& 350,000 = 12& 4,200




